Yogurt IJ_

A food company produces yogurt in half-cup tubs.
@‘ ’ @’ '@‘ 2 cups =1 pint
; @ \ @ \ @ \ (ié 2 pints = 1 quart
4 quarts = 1 gallon

1. The tubs.of yogurt are sold for 75¢ each.

Twenty percent of this is profit for the food company.

How much profit does the company make on each tub? \ 5 ¢

Show your work. 0.2x0H.715
0.15

The machine that fills the half-cup tubs with yogurt runs 10 hours a day for 5 days a week. It
fills 1600 tubs an hour.

2. How many gallons of yogurt are needed to fill 1600 tubs? S0 C;}i“‘\ DG

Show your calculations. N -
- ) 2~ 32x = \600
6 cups= | gal

7 SaArS
22 bt s Hal o0
22 ubs 600 tubs
g X ogyexd
3. How many gallons of yogurt are needed each week? L, PU0 OB“‘ :

Show your work. \6, 600 tulbs o ol M)
30,000 Tbs a week

b gal % 9ol
32 ;;mff)() ,000
. L X 2ol : :
4. What is the percent increase in production if the machine runs for 7 days a week instead of 5
days a week? 2 extron dCLU! S Hoeiy
Show how you figured it out. % = 0.4
= 4O %,
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Yogurt I :2

A food company produces yogurt in half-cup tubs.I | C“P}j g VY'\Hj = L/’?M‘B = | 3 4/ l/c) l/]

2 cups =1 pint
2 pints =1 quart
4 quarts = 1 gallon

1. The tubs of yogurt are sold for 75¢ each.
Twenty percent of this is profit for the food company. A @ g/

How much profit does the company make on each tub?

Show your work. [7.5; Y
| (On /Wf

%!
3" é@/}/s’

§
The machine that fills the half-cup tubs with yogutt runs 10 hours a day for 5 days a week. It
fills 1600 tubs an hour.

2. How many gallons of yogurt are needed to fill 1600 tubs? f 0 ﬂ/ /WJ
Show your calculations.
\ .~
200 ~1b=5v

3. How many gallons of yogurt are needed each week? } S- ﬂ ’& ﬁq J / ﬂl) j

Show your work.

4. What is the percent increase in production if the machine runs for 7 days a week instead of 5

days a week? V ' - 7 e

Show how you figured it out.

)( = 7 O D
SRS (000 913; - [ 00
<00



Yogurt T3

A food company produces yogurt in half-cup tubs.
@’ ’@’ '@ ’@‘ 2 cups =1 pint
@ C \ (fé \ @ 2 pints = 1 quart
4 quarts = | gallon

1. The tubs of yogurt are sold for 75¢ each.

Twenty percent of this is profit for the food company.

How much profit does the company make on each tub? \S ¢
Show your work. 0.5 AP
Y

20°1° (1(;4;) = F
0.2 (0.1%5) : 0.1

Y

The machine that fills the half-cup tubs with yogurt runs 10 hours a day for 5 days a week. It
fills 1600 tubs an hour.

2. How many gallons of yogurt are needed to fill 1600 tubs? C0 aaljon¢
Show your calculations. 1600 W,C%E@UQ © 800 wups

D00 edps L pwet 144 %OO-SOQM

< e

2 tHpc g pekg \6

3. How many gallons of yogurt are needed each week? 2500 qq IHovig
Show your work. 1600 fube  1ORM T 16GOC Tl Soqgal Rl G AT VR <609
| Wowy [day Ay ‘m - T ERR A
1bLOC e |

b E;ﬂ# - 20000 e filied in Tdaye

4, What is the percent increase in production if the machine runs for 7 days a week instead of 5

days a week? 40240
Show how you figured it out. 12006 -¢CGOC - 32000
KOO0 Nb¢ ) Aayr 32000 . q07-
‘ 3 A0 17000 twig ailed in 7dayg 50000 ~ Ot 907
oy |
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Yogurt T4

A food company produces yogurt in half-cup tubs.

2 cups =1 pint
2 pints =1 quart
4 quarts = 1 gallon

1. The tubs of yogurt are sold for 75¢ each.
Twenty percent of this is profit for the food company. l 5
J

How much profit does the company make on each tub?

75 720=15

Show your work.

The machine that fills the half-cup tubs with yogurt runs 10 hours a day for 5 days a week. It
fills 1600 tubs an hour.

2. How many gallons of yogurt are needed to fill 1600 tubs? ! ;‘ } 2 a/ 6’} —

ow your calculations. - el 2
Sh al ;/L @/51 OZ_ 3 4 %
U600

3. How many gallons of yogurt are needed each week? ,LS 0 O

Show your work. BO ,(O _ 500 ‘ g‘: 2500

4. What is the percent increase in production if the machine runs for 7 days a weii inst&a of 5

days a week?

Show how you figured it out.

) 500 20C

T, 04
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Yogurt T5

A food company produces yogurt in half-cup tubs.

@‘ '@‘ @’ '@‘ 2 cups = 1 pint
i (ié \ @ \ @ \ (ié 2 pints = 1 quart
» 4 quarts = 1 gallon

1. The tubs.of yogurt are sold for 75¢ each.

Twenty percent of this is profit for the food company.

How much profit does the company make on ezich tub? 7] Q
Show your work. 0.73
=) x 0-2 _
009
550

The machine that fills the half-cup tubs with yogurt runs 10 hours a day for 5 days a week. It
fills 1600 tubs an hour.

2. How many gallons of yogurt are needed to fill 1600 tubs? ke jﬁdai//Oﬂj
Show your calculations. |600 tubs = B00¢ aps = 900/7 NI
2007(]0[/3’; 50j4//0ﬂf

3. How many gallons of yogurt are needed each week? 2300 40// ons
oe b -/
Show your work. 5?74/ = hr 50 he awee
2500 94 lone

4. What is the percent increase in production if the machine runs for 7 days a week instead of 5
days a week? j/,ﬂja/ z hr. X 10 hrs .aueet ) % ineléage
Show how you figured it out.
Sdays = 2500 gal 7Jaj£—*j£00ya/ 1090 x

\ - =
0/'74;/?2/)65 = /’OOOjQJ 2500 JO
= o0 x
00,000 = 25

000 = 25,
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